EAGRAROBREERT — 2 N— ABISH —F

2020FE3H4H (k) 14m11IE3H

Sl >R —M C3t/\A

‘ (] 8 ‘ [EmmEl  — | 4 (%) 14000 B

[AE%£] 1 7% :800,000 2 3 :304,000 M

/

3 7&:200,000 @ 437 :120,000 M 5 & :96,000 M@

E BB BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
1l72lo|Vay/70vy 7 éﬁ_ﬂam 1:(3_1).4 1-1-1-1 391 — 1 ;1_722) gﬁég_(ﬁfu%)
R:T7Ta743IVF—- B:Uay/x—> KEHH
— nE 3. 73 6 — THEXL (/I1I5)
olg|5|TNT 1 k-7 it 6 s 1(352)4 8-7-3-2 | 39.6 3 (4_226) el
L:xrinaO— B:HI/I54 B T
NN 7 | M. Szl 1:32.7 2-2-2-3 | 40.3| — 2 491 | WilFaH (J1108)
31811 v )R=> A\54.0 (11/2) (-14) AATE
X ThANAN B4 T —F L &R
# 4 | SBER 1:32.7 5-4-5-4 | 40.0| — | 4 | 475 |TitEkX (i)
41111 | EFEF 54.0 (74=) (+g) | AAIEE
LA LNT Ry IR BHITX21—F« WA fE—
S s 7 | BllliE— 1:33.3 3-3-4-5 |40.7| — 7 459 | fE4ARTH (fRAE)
517]10| xv7E—L 54.0 & e |EeAmIE
R:iFHAYTIIRE B:LE1—FHYT e
3 RS 6 | JISIEXER 1:33.4 9-9-8-8 | 40.0| — 5 447 | RER (fa45)
6 g|¥Y—7>hKFd— # 56.0 (1/2) (-3) |BRZEE
R:A—-LIFLIA B:7717Y3%1 b BH Fa
: 4 g | AERE 1:34.2 12-12-7-6 | 40.7 | — 12 | 489 |AEAGER (J1Ii)
71812/ A3TFE—-L 56.0 @) (+2) AR —
LI TFTIALR B TIN—Tr AT MEZie]
o 6 | MR 1:34.4 4-5-6-7 |41.6| — 6 445 | EHEF— (/I&)
INF v =Ib # 56.0 ) (3 |#) TvFxTNx
L7 RIAV T vy BNLIT— Gl e
o= 1o TIPSt : -10-11- - SERE— (I1E)
IS5 K—JL 4 4 74 1(}%;.;1 10-10-11-12| 40.7 8 (4+120) iy
LTAY>T7Fyva B7ReAY7AVY e}
. FRER : 810~ = 2 ARZ (JI1E)
R)—LJ1)ZATX % 5 el 1(7:3?:;5 7-8-10-9 | 41.0 11 (4+388) s
LHIRTTFZX B:RY—LLA2R— 2B
N = a5 HEIBTHEE : -11-11- - SHEM (1115)
1/ 28T 4 En 1@$ 1T 40.6 10 g NEEX
gL FSw ML BHTITYIN—T 2XANT 7 — I
S HTHE R : ~6-0- = FEIE— ()1]16)
£ HEH L= it 4 L 1.(335).2 6-6-9-10 | 41.8 9 (4_539) e
L:NZ—kba1—-X B:¥a¥>ax Lozt e
® I —F—@EBIERL
13=7r= 9,11,10,4,1,2,7,5,8,3,6,12
23—+ — 9,11,10,1,4,2,5,7,8,3,6,12
Gal=7r= 9,11,5,10,1,4,12,8,2,7, (3,6)
43—F— 9,5,11,1,10,12,4,8,7,2,6,3
[ RN
B OB 9 260M 714K 5-9 310 e & 5-7 480M 3ER 5-9-11 690M
1 B 9 120M 9-11 210M B 7-5 970M JEH 9-5-11 3,520/
5 120 5-11 310M B E 5-9 660
1 120M9 B H 9-5 1,060M

ARICOVWTRDTEEERROODE. TR LI,




